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Equation.

Unknown number.
Algebraic expression.
Formula.

Algebraie golution.
Solve the equation.
Algebra.
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Power.
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Index, Exponent.
Term.

Monomial.-
Binomial.

Trinomial.
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Numerical value.
Integral expression.
Fractional expression.
Negative number.
Positive number.

“Absolute value.

Greenwich.

Commutative law.

Associative law.

Distributive law.

Algebraical sum.

Algebraical difference.
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Like term.

Arrange according to descending
powers of x.

Arrange according to ascending
powers of x.

Degree order.

Index law.

Homogeneous expression.
Equality.

Tdentity.
General form.



i3
BR

VAT A

M

B
RAWERE

H

5EE G0
A EEK
58
FAEZ!

7B

a¥

AR AT
SHI%
%58
L

AEFHFER
A ER
THEHIE

4

(73

£ (VI G S

T R T N PR Y s

Root.

Transpose.

Simultaneous linear equation.

Elimination by addition and
subtraction.

Elimination hy comparison.

Elimination Dy substitution.
m R

Factor.

Factorization.

Highest common factor.

Multiple.

Lowest common multiple.
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Denominator.
Numerafor.
To reduce to common denominator.
Least common denominator.
Reciprocal.
Compound fraction.
Continued fraction.
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Fractional equation.
Literal equation.
Imposible problem.
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s Indeterminate problem,
e Discussion.

£ £ IR
B Involution.
BTy i3 Evolution.
okt * Square root.
LR Cube root.
AR5E Radical sign.
i3 e Radical surd.
AR Iudex of radicals,
AR Raadicals expression.
HEX Rational expression.
MEFRE; Irrational expression.
B Doulble sign.
Jiite Imaginary number.
ki Real number.
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RN Quadratic equation.
S Discriminant,.
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BRI Reciprocal equation,
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Additional root.
Simultaneous quadratic equation.
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